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6138 (X) #%H

2 HAX EM [ Be- AR FTEA W BE
BHYN 6/ k.S 5kg & kg 850 EE
BEHN 12 5 5kg 8 kg | 800 EiE
BHHN 8 H 5kg i kg 700 EE
BHHN 102 BF 5kg & kg 660 EE
il AN 8 aF 5kg b kg 700 EiE
7Y 17/912 &l 5kg 78 kg | 1,100 EiE
7Y Tkg s 1A #a kg 800 EE
hVUA 4kg FE 1A #a kg | 1,500 £
hvr 5kg FE 1A £ kg | 1,400 £
hy#t 2 FiE 5kg 78 kg | 1,100 &
FELEE 5FE ] 3kg 78 kg | 2,500 £
EAXF 2/3E = 5k 4/6kg 5= kg | 2,150
HUHMY #9120 =k 3kg & kg | 1,400 2 BEO
* B 4 GEdon] 5/5.5kg 5B kg | 2,400 8 BEEO
£ Bff 5FE GEdon] 5/5.5kg e kg | 2,350 # BEO
Y75 12 EiR 3/4kg & kg | 3,000
ER 2kgH &% 1A & kg | 1,150
TAFHA 5/6/& 5 3kegd & kg | 2,850 E X
B 2kge =8 1A #a kg | 2,300 #lY Fx
A 4 B 3kg 5= kg | 2,300 E X
GhHL4 3E & 4kg 78 kg | 1,400 - Wad
£ EBYINE BIE 500g e P | 2,600
M7 102 FEFE P P | 1,200
BE7 102 GEdon] 1kg P P | 3500
ISR 100g KB P P 500
Ry+ B #3300¢g tiEE & kg | 1,600
H3)LE 300/400g gl & kg | 2,950




